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® carry out the following transformation.
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"Vertically stretch by 4, horizontally shift right < v
3 units and up 1 unit."

a) Sketch the new function
b) Write its equation.
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Parent Function for a parabola: Y= XQ

2L
General Equation: Lj = o (x-h) + k




notes on 7.2.1

May 15, 2019

_ %'\\(\(\OOT\) 0

cosCmomy \ 7] = ©

L\ \ —> I/;) 7 \ﬂ(
\ﬁ—‘ lr\(X ,ﬂ:j‘x )
Y= (%{X)? TTE\% R 3;2@@%(’%
lﬁ y - \IT (LY
—A—
A > SAzX
é:i.‘L//ZQ > . L/ Lﬁ
RO




notes on 7.2.1 May 15, 2019

%O\Vﬁ %).ﬂ(é})gg Vo on celanlatov

— & over Jr\\\Q )m+€r\f&\
0= D= D <2 2w

@:

7

Tues-May 21 (losure L

ot § Ch. 7l TesT
+ (No colculat or

Thur-May 23 @

Wed-May 22  Closvve




notes on 7.2.1

May 15, 2019

HW and Recording Sheet for
Part A of Ch. 7 Due Friday

beginning of period

(includes yesterday's assignment
but not today's)

HW Questions

HW Questions
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How would you sﬁifr the ﬁmcu’on up k units ?
How would you sﬁiﬁ the ﬁmction m’gﬁt h units ?
How would you vem’caﬁy stretch or shrink the ﬁmcu’on ?
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A reflection across the x-axis and a
vertical shift down 2 units
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Y= 15 cos (D +<




eson 7.2.1 May 15, 2019

Sketcn Artists

MNiws Sketch cychic
¥unc’rf0ﬂ5

LJ/O (o CO\\CV\\O\*O\r

N(j\/@%




notes on 7.2.1 May 15, 2019
SKetcn - dan \obe\ ®revcepts

2 cyc|es O'F

g = 2HMx) +D

2 cycles o%

"j - ?;QM(X)+3

Wrerceprs




notes on 7.2.1

May 15, 2019
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Sketch 3 = 90 s?n(x) - 200
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The Amusement Park has decided to imitate The Screamer but wants to make it even better. Their ride will consist
of a circular track with a radius of 100 feet, and the center of the circle will be 50 feet ABOVE ground. It will be
called the Screamer Plus. Passengers will board at the normal spot which will now be 50 feet above ground (riders
will climb up stairs to board another words).

Write a function that relates the angle traveled from the starting point to the height of the rider above or below the
ground. (HINT: Draw a diagram to help).
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] . ... 16-118, 120, 122-124

AND

take home LCQ which is due
tomorrow at the start of class.
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